
[image: image1.jpg]List the phenotypes: Look in the boxes! They are: O one fang, two wings and o one fang,
no wing zorks for the possible phenotypes.

1. Tork is homozygous for being tall and for having one leg. Vorkina is short and has two
legs.
A. What must be the phenotypes and genotypes of Torky and Vorki?

2. Torky is tall and has green hair. His wife, Morkalina as you remember is short and has
yellow hair. Use Problem number 8 from zork genetics to help you.

A. What are the phenotypes and genotypes of their offspring?





[image: image2.jpg]3. Spork and Vorki are both tall and have three eyes. Look at problems 7 and 9 from zork
genetics to help you.

A. What will the phenotypes and genotypes of their possible offspring be?





